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SECTION- A

TS GAT 1 A qgAaddl U 2 e |8 SR o SwRyRaer 7 fafey —

Question no. 1 contains multiple choice questions, write the correct answer in your answer book.

Y—1:— (i). SARTAT eq BT TAWH YA fhar — 1
(31) freas Ugel 1908 (@) o TET 1791
(&) g < fast 1900 (@) Sifq 1922

The word mutation was used for the first time -
(@) Nilson ahle 1908 (b) Seth wright 1791
(c) Hugo de vris 1900 (d) Jekins 1922
(ii). IR FHY SH W Rerd & — 1
(@) PR (q) ST
(%) TR () 71 faeed

The Indian agricultural research institute situated -

(a) Kanpur (b) Jaipur
(c) Nagpur (d) New Delhi
(iii). PCR (dfforst et siffshan) & @it of — 1

(31) Do (@) dfer &
() T Pled (8) &ad IR

Discovered PCR (Polymerase chain reaction) -

(@) Karry mullis (b) Paul berg
(c) Stanley Cohen (d) Herbert Boyer
(iv). 1% ST9 &1 SYANT BIAT © — 1

(31) BRmERE ReRIHRoT @) Argeror RerdfreRor



() drerer Reriaxo (3) SWRIad ¥ & fory
Nif gene is used for -

(@) Phosphorus fixation (b) Nitrogen fixation

(c) Potash fixation (d) For All above

(v). feser &1 d=fve am 8 —

(o1) Vdtere T @) Rers! SRR
() Bferprarur mfoRT @) Rrafiar g9
Scientific name of locust is -

() Amsacta moorei (b) Schistocerca gregaria

(c) Helicoverpa armigera (d) Sesarnia inferens

(vi). GWRT 7] 5 T07 FT FE ® —

(31) DIferaresT @) feex
(&) BrgHATeT () aferex
Khapra beetle is a member of which order -
(@) Coleoptera (b) Diptera
(c) Hymanoptera (d) Lepidoptera

(vii). TRA ¥ e IR A5 &1 S\ fy AT STar @ —
(31) daaH @) wd
(4) $. O 9CerR () va. <. ™

Who is knwon as father of plant pathology in india -

(@) Waksman (b) Frank

(c) E. J. Butler (d) H. C. Gram
(viii). i wHhE & —

(@) TR () Tegei

(w) TR () sreprsHl

Friend Fungus is -

(@) Fusarium (b) Albugo

(c) Cercospora (d) Trichoderma



(ix). T BIC GIARM B AR & —
(@1) 0.2 mm @) 11.0 mm
(9) 0.8 mm () 0.4 mm

The length of smallest nematode is -
(@ 02 mm (b)11.0 mm (c) 0.8 mm (d) 0.4 mm
ye 2. Raa i @t gkt g —

Question 2. Fill in the blanks -

(i) frdt SiTell STl &1 A9 & §RT UG BRA Bl ... HEA ¢ |
The management of any wild species by man is called---------------

(i) f5=1 uredi 7 qifsd JeTT & forg Iredl S v U IuRd Bl 8 S

Plants in which foreign DNA is present for desired characters are called-------

() Rk — @ e} a8 # e 2 |

Termite live in the colony inside----------=--=-==-=--=---
(iv) T # el el IT BT T TP =
The pathogen of yellow rust in wheat is-----------------=-=-=-nmnmom-

ge 3. feTgeRITS U —

Question 3. Very short answer type question -
(i) Ty o= B aREIRT HIfTg ?

Define plant breeding

(ii) T~ITgd SITAY AN & Big U HRI felRay ?

Write any one of function of the enzyme DNA Ligase ?

(iii) BIaRT DI BT dei~d aH fIRay | 1
Write the scientific name of red hairy caterpiller insect.
(iv) /18 BIc @& By Ud UTqiad g &1 M ol |

Write the name of any one natural enemy of Aphid insect.

(V) @z o ®Ed B |

What is Lichen ?



(Vi) THIER & IWIKH ST INT & IR Siidb T A fIRay | 1
Write the name of pathogen of early blight disease of tomato.

(Vii) STk @ BTSAT INT BT DIs TH el forfRey | 1
Write any one symptom of powdery mildew of cumin.

(Viil) @R ST wd &1 | U S arel Big &l gF Bl 9 A oy | 1

Write the name of any two nematodes found in saltish water and soil.

g — 9
SECTION-B

ALRIAS T (T 50 AKT § FR <9 ) —

Short answer type questions (to be answered in about 50 words) -

9. 4. AIATEH, O Td ATl & Urifid IH des oty | 1%
Write the primary origin center of soyabean, peddy and potato.

Y. 5. JGIOAT Ud GO A 3R IRy | 1%
Write the difference between Aneuploidy and Euploidy.

Y. 6. URAGIOTAT BT UTSY USi= H PIg &l IUINT felfay | 1%

Write any two uses of Allopolyploidy in plant breeding.

9. 7. GYE 999 & Plg i T forfEy | 1%

Write any three merits of mass selection.

¥. 8. dI8® (THERIR 322) BT AMifhd =IF a918d | 1%

Draw a labelled diagram of vector [pBR 322].

g, 9. AU%AR A & P & o™ faIlRay | 1%
Write any two advantage of Lipofection method.
9. 10. BIAG Yaeia fdy Fed © 7 1%

What is vegetative propagation.
9. 11. BHE & $HAd d=q P AMIDd (o I18Y | 1%

Draw the labelled diagram of Hyphae of fungus.



Y. 12. THICY ¥ 3Tl [T T T IR Ja=e faRag | 1%

Write the cultural management of Early blight in Tomato.

U 13. IR © BIBAT AT & Dl oI ofefor fIlRay | 1%

Write any three symptoms of powdery mildew of Ber.

. 14. Hied 0T A yIfad NE & O BT o 99 rsY | 1%

Draw a diagram of wheat plant affected by molya disease.

. 15. Tl BT qThROT foTRay | 1%

Write the classification of slug.
grg — 9
SECTION-C

SIS U (TeT AT T 100 Weq Ufagee ) —
Long Answer Questions (Word limit approx 100 words per question) -

Y. 16. BIART dlc BT d=il—e A fIRIT Ud 59 F&IvT IR Hecd &l IHmsy | 14+2=3

Write the scientific name of red hairy caterpiller insect and explain its charecteristics
and

importance.

3erar / OR

AHE oS DI BT deid M iRay Ud gdd et IR A8 Pl AR |
Write the scientific name of white Grub insect and explain its characteristics and
importance.
g. 17. Ul & Uid RRT A91d I0T & I[T SRS BT A fIRgy qor s96 & g
NS g B GHegy | 14+2=3

Write the name of causal organism of yellow vein mosaic disease of Okra and explain
its symptoms and chemical management.

3erar / OR

S & g Uu M & I BRS BT AM [IRIT | T 59D eI T [ D T
DI A |

Write the name of causal organism of little leaf of Brinjal and explain its symptoms and
chemical management.



U. 18. IE B HAA ¥ AT INT & YI=9 DI AASTSY | 1+1+1=3

Explain the management of molya disease in Wheat crop.
3erar / OR
g & ¥g Ud g I & I B AASISY |

Explain the management of ear cockle and yellow ear rot disease of wheat.

s — §
SECTION-D

fRisenTeTe ged (Freq W I THIT 250 s gfayged ) —

Essay Questions (Word limit approx 250 words per question) -

U. 19. @RI YT BIC BT A=A~ A Td 5HD AeTor [oIfgd Tor g9 Sila- @ Vg Yawer

I FHSY | 1+1+1+1=4

Write the scientific name and its characteristics of the khapra beetle insect and explain its
lifecycle and management.

31erar / OR

IR BT AT P BT I=d 78 T 59b 1eTo1 foIRay doIm s Sila 9 Td
Yaeer BT qHeSY |

Write the scientific name and its characteristics of pomegranate butterfly insect and
explain its lifecycle and management.

. 20. ST ®1 GRIT HIFTY | STare] iRt &1 wHifhd & 99 gU s Bls R
oI BT oI DI | 1+1+2=4

Define becteria, Draw a labelled diagram of a bacterial cell and describe its any four
characteristics.

3erar / OR

quTY] BT GRS DI | fIUT9] BT BT AHifbd = a1 U 50 Plg AR 0N bl
Ui BIY |

Define virus, Draw a labelled diagram of a viral particle and describe its any four
characteristics.
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SENIOR SECONDARY EXAMINATION -2022

S

(AGRICULTURE-CHEMISTRY)
MODEL QUESTION-PAPER

9T — 2145 T

gus — (3)
SCETION-(A)

IS g —

Multiple Choice Question -
ge 1 — Fafoled ge=i § SR &1 |98 e 999 R SwyRaar 4 ford —

In the following questions, select the correct answer and write it in the answer sheet.

(i)

(i)

fedae @fs &1 SeEN 8§ —

(@1) o @) Faes
(W) A= (&) =T R
An Example of secondary minerals is -

(A) Gypsum (B) Quartz

(C) Mica (D) Lime-stone
MESETH STANEH BId & oIy Iugad 8 —
SYRSEY (@) 7R

(%) wrard () FfTHen
Rhizobium Japonicum appropriate for crops -
(A) Lucern (B) Pea

(C) Soyabean (D) Groundnut

(iii) FRIPT Pleilged & qITIT TRl 4 dicl T & —

(iv)

) 3 @) 2
®) 4 (G
The clay colloids are mainly divided into groups -
(A) 3 (B) 2
(C) 4 (D) 5

s IMC FaT &I g fafea ewar g 2 —
(31) 5-10 cmol kg™ (&) 15-20 cmol kg™
(9) 20-40 cmol kg™ () 60-100 cmol kg™
The CEC of sandy loam soil is -

(A) 5-10 cmol kg™ (B) 15-20 cmol kg™
(C) 20-40 cmol kg™ (D) 60-100 cmol kg™

qulids — 56

(1)



(v)  UTfe 9Ne ddl B) Afihdd yrerdT PY URNY HIE § —

(1) 35 — 45 (@) 45 — 55
(@) 55 — 65 () 65 — 75
P" range of Maximum availability elementary nutrients -
(A)35 — 45 (B)4.5 — 55

(C) 55 — 6.5 (D)6.5 — 7.5

(vij WIS® (Sodic) G HEAN & —

(31) 3l FaR (@) sl e

(¥) &g gari (8) ATI—RT e
Sodic Soils are called -

(A) Acidic Soils (B) Saline Soils

(C) Alkaline Soils (D) Saline-alkaline Solis

(viiy  TII9T OIS o & —

(31) ca, Mg, S (&) N, P, K
(d) Fe, Mn, Zn () ¢, H,0
Secondary nutrients are -
(A) Ca, Mg, S (B)N, P, K
(C) Fe, Mn, Zn (D)C, H,0
(vii) THASS SdRP § —
(31) IR\ AT8ge (@) Ui Agge
() IR Hehe () gRan
Amide Fertilizer is -
(A) Ammonium Nitrate (B) Potassium Nitrate
(C) Ammonium Sulphate (D) Urea

(x) g SdRP BT SCIERVT T8l & —

(@7) 99T BrRe CINESIERE]

() Toleddes (®) a1 sRa <rarer
An Example is not bio fertilizer -

(A) Vermi-compost (B) Rhizobium

(C) Azotobacter (D) Blue green algae

U 2 — Raaq wm & gfd #ifdg —

Fill in the blanks -

() ST H MSTIT BT HROT BT ¢ |
Sweetness in Milk due t0 ..o,

(ii) TSI BT SYATT oo P B F BT ST ?
Use of Azola in oo crop.

(i) &1 ¥ Sharer uardfl & TR T o T, 2

Main source of organic matter in soil is .......cccccevvvvevveveees AN i,



(iv) BgAE D I fATHT & oo A< / fhuTr gl B |

Cation exchange capacity of HUMUS is ......cccevevecvecnennne. cmolkg™ .

us 3 — fA=fiRad Ul & SR Ue v AT U Ufdd | T —

Give answer of following questions in one word or one line -

(i) 3T M TCCH BT Udh IQTEVT [eTRay |
Write an example of acidic igneous rocks .
(i) omr faf g fvas yeR & g 2 ?
How many types of ion exchange ?
(iii) S BT FhE I fHA HROT Fer 2 ?
What is the reason for the white color of milk ?
(iv) UTSRISC T RS g3 oy |
Write the chemical formula of Pyrite.
(v) o9 ¥ WRT I fHE e dwd Bl HE 3 BT g ?
Khaira disease in paddy is caused by the deficiency of which nutrient ?
(vi) S1TU. SRE BT RS g frfay |
Write the chemical formula of DAP Fertilizer .
(vii) Sifde @&l B fdhaw 9rT H qEffeqpd fovar wam g ?

Into how many parts are organic fertilizers classified ?

(viii) T BT MMUfeH ovea e IUBRT | S far ST ® ?

With which device the relative density of milk is determined ?

gug — (9)
SCETION-(B)

TTERRIAS U (STR & AT T 50 ¥R

Short Answer Type Questions (Answer words limit approximate 50 words)

J—4. U3 oI U4 Jfagar H i SR oy |

Write three differences between surface soil and sub soil .

y—5. AcCHl & JARIMD JUTT DI FHSY Ud 39 Iy al PR foIlkay |

Explain chemical weathering of rocks and write any two types of it .

y—6. &I B G fAFHY & BT qHeSy |

Explain cation exchange capacity of soil .

y—7. ¥aT ¥ 3 fafa &1 #e<a forfay |

Write importance of ion exchange in soil .

(17)

(17)

(172)

(17%)



y—8. foTgq STaq &1 99y vd fafdr foilkaw |

Write time and method of gypsum application.

g-9. UISRISC &I JaT H ffshar Ry |

Write reaction of pyrite in soils.

g—10. TEI H HfoId B B B Ieqor forfRgy |

Write deficiency symptoms of calcium in plants.

g—11. UIel & foTu ol &1 Sifariar &) &Il & Ja3sy |

Explain criteria of nutrient essentiality for plants.

g—12. JMIMIH Aehe IS BT JaT ¥ AMHar THemsy |

Explain reaction in soil of Ammonium Sulphate fertilizer.

9—13. Aohe 3B YT BT Bal IR Y9Td BT g HIFU |

Describe effect on crops of sulphate of potash.

J—14. AT FARDI BT AR TINT I F&T W Ug dlel 91T bl TS |
BHAA UR GIRI bT favelr g9rg forfey |

Explain the effect of frequent use of acidic fertilizers on the soil. Write the toxic
effect of Zinc on crops.

T—15. Fohe 3 UICTY [d¥dh b AN D Gied fo1Rau | el § Ted &l Hul
P o7 foTRau |

Write the chemical composition of Sulphate of potash fertilizer. Write the deficiency
symptoms of sulphur in crops.

gus — (9)
SCETION-(C)

ISR Y/ Feed 794 (368 AT ST 100 I1<1)

Long answer type question / Essay type question (Word limit approximate 100 words)

g—16. o9l gl & faewes & IHsmsy |

Explain the decomposition of organic matter.

AT

OR
Sarer ugrel & fa=es &l YgTfad R dTol BRI Bl Fu I |

Describe the factor’s affecting the decomposition of organic matter.

(17%)

(17%)

(17)

(17)

(17)

(17)

(17)

(17)

(3)



y—17. AIFCAIRAMISE Y8 ! Ufdd AT B AHifdbd o a1y a9y |

Explain with a labelled diagram the row structure of Montmorillonite group.

SREH

OR
SATSE TR &) Ufad AEAT &1 Amifed fF g ansgd |

Explain with a labelled diagram the row structure of illite group.

g—18. 9T URIES A MY T A 2 ° I UeRE fafer & o7 forRay |

What do you understand by buffers ? Write the properties of buffer solution.

AT
OR

IUY YfRIE® &dd] ¥ A9 R qHd & ¢ Jarsl § W YiRIE Bl GHsisy |

What do you understand by buffering capacity ? Explain buffering in soil.

g — (])
SCETION-(D)
ST U/ Reareis e (3] ST ST 250 95)

Long answer type question / Essay type question (Word limit approximate 250 words)

J—19. THIH JURCY Bl qAGC DI fIF IR &I 9RN BT g DI |

Draw a diagram of the structure of the cream separator, describe the main parts.

AT

OR
HIF AW I 98 & AR~ 9N BT T g91hR guiF BT |

Draw and describe the different parts of the cream separator’s bowl.

g—20. B WIE I AT RIT FASIA © 7 & WE o I A &1 9oi9 SIfe |

What do you understand by green manure ? Describe the methods of green manuring .

31erar
OR
ol PY Wig J 3T T FHeId & ° Wferal & warT & fafet forlRau |

What do you understand by oilcake manure ? Write the methods of using of oilcake.

(3)

@)
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HeET —12 fovg — oY fagm qUlfh  —56
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SECTION-A
1. e R T IgaTeTe UeEl & 98 SR Sw—gRaaT # faRag—
Werite the correct answer to the given multiple choice questions in the answer book.
(i) SoRTsa 9 Riarg fafdr &1 fasra gam 3—
@) dparR <o Riarg (@) ge—gg Riwg
@) dor R (@) 9} yedl RiaE 1
Irrigation system developed from Israel is-
(@) Check Basin Irrigation (b) Drip Irrigation

(b) Sprinkler Irrigation (d Boarder Strip Irrigation
(i) RT 9 F Yg BV BT a9 JERT iR &b 3—

(1) 48 @) 58
(%) 68 @) 78 ]
Rainfed percentage of total net agriculture in india is area-
(a) 48 (b) 58
(b) 68 (d) 78
(iii) TTPHd— 4 S fo 8-
(@) T (@) T
(@) e () = 1
Improved variety Saket- 4 is -
(a) Wheat (b) Maize
(c) Paddy (d) Gram
(iv) IR geT B
(1) IR (&) Tt
(|) gqrer (@) i 1
Wind break tree is-
(a) Pomogranate (b) Phalsa
(c) Papaya (d) Neem

(V) T9d & gaeie &1 |aras fafr
(31) Bferpra (@) STRIYor

GIEISEE () <19 dHe| 1
Best propagation methods of papaya is

(a) Budding (b) Grafting

(b) by seeds (d) layering

(Vi) Bt aRRRIT B &g A @1 ufierd AT 89 AR



(31) 65 ¥ 70 (@) 50 & 60

(4) 40 & 50 () 30 & 40
For fruit preservation purpose percentage of sugar is required-
(@) 65to 70 (b) 50 to 60
(c) 40 to 50 (d) 30 to 40
(vii) T @ AR T BT SAfy W@ 2
(a1) BT (@) oA
() SRS (8) wegge
Origin place of Gir breeds of cow-
(a) Haryana (b) Rajasthan

(c) Uttar Pradesh (d) Madhya Pradesh
(viii) fa<e=l 9 & T B~

(31) =TS (@) ARURIHR
(&) St GEIGEL

Foreign cow breed is-

(@) Rathi (b) Tharparkar

(c) Jersey (d) Malvi

(ix) aPRE ST g T -
(37) g T T (d) STEvars
(@) T (&)TeTEiie
Virus caused animal disease is-
(@) Rinder past (b) Black quarter
(c) Anthrax (d) Haemorragic septicemia

2. ffaRed ueat § Raa et @1 gfif fafom—

Fill in the blanks of following questions-

(i) 5ed BT T e & forw frd SIram 71
Mulch isusedtostop ...........ccevennn.n.
(ii) ®t eIl BT Ul H TG T 3Tt BT SUANT o SIrar 7|
......................... Acid is used to protect fruit trees from frost.
(i) B o A & g H I BT AT 12 A 14 gRed g 2 |
The fat content in the milk of ......................... bread of buffalo is 12-14%
(iv) g g 49 H =l T o qHD SIATY] §RT Hheldl & |
Mastitis disease spread in cow & buffalo by................ namely bacteria.

arfr STEgRTHD U i— (Very short answer type questions)
7. 3 fa=ferRad uedl @ SR Udh es 3fqdT Udh dfdd # forRau—
Answer the following questions in one word or one line.
(i) P TH Faaoldl IEIRAT BT AW fARag |

Write the name of any one free living bacteria.




(i) B U BT Bls Th STANT fIRay |
Write any one use of Pheromone trap.
(iii)  TEHU™ Fd YR & Pic 8 ?
What type of insect is Trichograma ?
(iv) o9 & ¥d ¥ ST 9 SdRGB AT § forar Sirar © 2
Which organic fertilizer is used in paddy field ?
(v)  HaBT B ST faRau |
Wrtie the water demand of maize.
(vi) 9oR & aFafae 9 faRau |
Write the botanical name of Pearl millet.
(Vi) UP H Bel &1 T fhaar gfaerd 2ar /7
How many percentage of fruit juice in squash
(vii)) SToidY AR & AT fbd el & B4 B 7
Which bread has Jalebi shaped horn.

Ygrs—9q
Section- B

STERNIH® U3 (¥ed HHT oI 50 ¥Meq)

Short answer type questions (Word Limit approximate 50 words)
T = 1 R ST v saT 8 AHss |

Define Agronomy and explain its importance.

IS Bl aRINT BT Td g8 TR falay |

Define seed and write its types.
ERUTIRT & B dTell o g1t faRag |

Write three losses caused by weeds.

7. WROAAR i1 & 9 Rigra folRau |

9.

10.

11.

12.

13.

14.

Write three principles of weed control.

. AR S &I gITHR Td YRep Ay &1 Arifad f=&rE amsy |

Draw labeled diagram of square and complementary method of orchard.

AT Bl e &I AFABR Ud Peer fafd &1 amifad = a1y
Draw labeled diagram of rectangular and triangular method of orchard.
%ol Ud Afeordl @ URREIV & diF o forRay |
Write three advantages of preservations of fruit & vegetables
ol &I fS=ETa<] BT THsISU |
Explain fruit of canning.

Mg & R et B N fARwamd fiRag |

Write three characterstics of Gir breed of cow.
TR T @1 A fRivan fofag |

Write three characterstics of Surti breed.

GRUBT, EUDT T ¥ q21d & i Ui feifRay |

Write three measures prevention of foot & mouth disease.

1.5

1.5

1.5

1.5

1.5

1.5

1.5

1.5

1.5

1.5

1.5



15. SR 9 & A A& faRag | 15

Write three symptoms of sick animal.

gus—Y
Section-C
ST U (I AHT RTHT 100 I1])
Long Answer Types Questions (Word Limit Approximately 100 words)

16. Bl I AT § UTGY HRET0T Hl FHSY | 3
Explain plant protection in Banana cultivation.
31e1q1 / OR
/S Bl YA H UTSY ARETT Dl AHSSU |
Explain plant protection in Guava cultivation.

17. T &1 FrfoRead Tl &1 IRl a9 Sudifirar foRkay | 1+1+1=3
(i) R (i) gGRUTHR (i) AR
Write the origin & utility of the following cow breeds.
Q) Gir (i) Tharparkar (c) Nagori

312141 / OR

W o FrfaRed Tl &1 Ikl a9 Syafar foaRay |
(i) HEATT (ii) STy (i) R

Write the origin & utility of the following buffalo breeds.

(i)  Mehsana (i) Jafrawadi  (iii) Surti

18. TSI H T I &0 U g & Iurg ffag | 1Y5+1%2=3
Write the symptoms and prevetion measures of Anthrex disease in animals.
37274T / OR

UeLall H STERETE AT eTT Ud g9 & SUr el |

Write the symptoms and prevetion measures of Black quarter disease in animals.

YUlg—q
Section-D

e T U (T AT ATHT 200 1)
Long Answer Types Questions (Word Limit Approximately 200 words)

19. {FDT B AP Wil BT o F=forRad fdgal & AMER IR PITG— 1+ 1+1+1=4
(i) gars &1 w9 ud fafe
(i) IR I~=aed fbH
(iii) WTE Ud ISP
(iv) 9o Ui gdex




20.

Describe the scientific cultivation of maize crop in the following points
Q) Time of sowing & methods
(i) Four improved varieties
(iii)  Manure and fertilizer
(iv)  Yield per hectare
31T / OR
St @l agne @it &1 avie AEfaRea e & s ) siforg—
()  gars &1 §9g U9 Ay
(i) TR IHaA fh
(i) T Ud IRb
(v) U Ufd gaex
Describe the scientific cultivation of Barley crop in the following points
Q) Time of sowing & methods
(i) Four improved varieties
(iii) ~ Manure and fertilizer
(iv)  Yield per hectare

R P IS el BT quie FHfAIRId g3l & MR R BITT— 1+ 1+1+1=4
(i)  f vd Srearyg

(ii) ey yae=

(iii) TR I e

(iv) O o= @ fafer

Describe the scientific cultivation of Ber on the basis of following point.

Q) Soil & Climate

(i) Plant Propagation

(iii)  Four improved verities

(iv)  Planting method

310d1 / OR
MR B I Tell b1 guiF FrefaRad fagail & MR uR #ifou—
(i) A T STefary
(i) 9TeU yae=
(i) IR ST T
(v) qrer T @ fafey

Describe the scientific cultivation of pomegranate on the basis of following point.
(i) Soil & Climate

(if) Plant Propagation

(i) Four improved verities

(v) Planting method



